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SA: MOIS=Z A
Mz MOIS2Ss 4o (Letsasid /UL N)
ool WSS |4 (Er9: HE)
2 -3 A2(ZH) - MIRAR - BES 0| AkoH J|&oH Hns2
201 LEH2 Y] 16,800 18,000 21,200
01 At22t2IH] 10,800 12,000 21,200
OJI2I120I0H HdI(oflarE2t)
23X 1,800,000 1,800 3,000 A1,200
405 RHAHEISHI 1,800 0 1,800
01 R 2EF EH| 1,800 0 1,800
OMOIZ21 AI24a &D|2e 1,800 0 1,800
— AMRE2 PC 1,000,000 * 1CH 1,000 0 1,000
— A28 ZUH 300,000 * 1CH 300 0 300
— MR Z2IED| 500,000 * 1CH 500 0 500
Z0I2ECH uSXY 47,898 53,220 N5,322
301 LEEHZ 47,898 53,220 N5,322
09 SAIAHIXIRZ 47,898 53,220 N5,322
OMOFS XIS XHCHS: SH2=04H] (0 AR )
A 5,478,000 5,478 10,800 N5,322
2W0IS2ECHY A XIS 257,600 238,000 19,600
307 12| A 257,600 238,000 19,600
02 DIZIHAAIHE X 124,600 105,000 19,600
OMOI2 oAlEr NSXA(BES 90%)
ZA 6,000,000 6,000 1,400 4,600
OAFSl SAIZ StSD| NI (BES 90%)
5,000,000 * 14! 5,000 0 5,000
OAIZel 24Z =D NI (BES 80%)
10,000,000 * 14! 10,000 0 10,000
ZOI2SCHY HALKIR 20,700 23,000 A2,300
307 G120 20,700 23,000 A2,300
04 DIZFEHAAIRIE X 20,700 23,000 A2,300
OMOIS HZTOIIHS] KR (0IAE2)
23X 2,700,000 2,700 3,000 2300
OMDOISXIS X =2THE] XK (olarE2
ZA 9,000,000 9,000 10,000 A1,000
OBIZAHADIE2lE =AU K2 (0aE2)
ZA 9,000,000 9,000 10,000 A1,000
(SIMOISSI AR ZNSE ZAL 10,000 0 10,000
401 AlSHIL S20HY] 10,000 0 10,000
01 Al&H] 10,000 0 10,000
OMOIE2 4|82t 2HE MIE AX]
5,000,000 * 14! 5,000 0 5,000
OMOI2&HIsI 2t BEXIA AX|
5,000,000 = 1Al 5,000 0 5,000
TAESAMHE 2 (LB eA/UBIEN) 409,002 410,632 A1,630
= 33,166 33,166 0
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S - B BR(S) - NRAY - BES 0 st p[E<El HimE==T
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NESAHIEHZ S 409,002 410,632 A1,630
= 33, 166 33,166 0
o= 27,950 27,950 0
Al 347,886 349,516 21,630
NRASAEE st 18,670 19,300 2630
301 LBIEEZ 5,670 6,300 2630
09 HAIMHIXIR S 5,670 6,300 2630
OXASA w=F odl(0lA =)
Z2& 2,070,000 2,070 2,700 2630
KA SALRHE] 9,000 10,000 21,000
307 SI2H0IH 9,000 10,000 21,000
04 BIZFHAAIHE R 9,000 10,000 21,000
OZ=Al NHESAR UE] X2 (0laE )
Z& 9,000,000 9,000 10,000 21,000
AoAstA 2e|(2Hd/XHA) 42,583 43,810 AN1,227
Ed 2 42,583 43,810 AN1,227
2SS EsKA 26,243 27,350 A1,107
201 B2 17,090 17,180 290
01 At2teld] 810 900 A90
ONHES & AN & EE2 ME 810 900 A90
—EZEC(0lAEZ) Z2& 210,000& 210 300 A90
301 LEIBES 9,153 10,170 A1,017
09 SAIAHIXIAZ 9,153 10,170 A1,017
ONeIEs HAUE I ol KA )
Z2& 1,683,000 1,683 2,700 1,017
ZEZZE 23 16,340 16,460 A120
201 LEt2 | 1,080 1,200 A120
01 At2teld| 1,080 1,200 A120
OREWEZ B2 2 (IAE)
Z2& 1,080,000& 1,080 1,200 A120
8RS 2 (MOIS A (18 JIEN 58,543 71,978 A 13,43
Jl2&| 58,543 71,978 213,435
Jl2&| 58,543 71,978 213,435
201 LBt2H| 16,774 18,638 1,864
01 At2teld| 16,774 18,638 1,864
OSARER R (0aEZ) 2& 2,246,000 2,246 2,49% A250
OSZ20HAlbI (ol A= 2L ) Z2& 5,897,000 5,897 6,552 AB55
Ot (0l A=) Z2& 1,080,000 1,080 1,200 A120
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OARE SAAHI(HAE)
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OL72 =HuI(0IaHEZ) 6,309 7,010 A701
—=A| =2l 2 & 900,000 900 1,000 A100
—ZglH 2l Z2& 135,000& 135 150 A5
—=AD| £l Z2& 900,000& 900 1,000 A100
—IEle EL(EY) Z2& 2,700,000 2,700 3,000 A300
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202 (44| 37,869 49,140 A11,271
01 =LHOA LI 37,869 49,140 AT11,271
OMOISSAL ARFE oiHl(0llaEZ) 37,869 49,140 A11,271
—2LHO{HI 23 33,696,000 33,696 37,440 A3,744
— 22| Z& 4,173,000& 4,173 11,700 ANT,527
203 HRF&l| 2,700 3,000 A300
04 EM2IHRFLHI 2,700 3,000 A300
ORASYSLETIHI(0AE)
Z2& 2,700,000& 2,700 3,000 A300
HEES(MOFSS AN (AFEISXI/ALE S X2t 10,555 0 10,555
S8XE 10,555 0 10,555
SEXE 10,555 0 10,555
802 Bret=DJIE 10,555 0 10,555
01 2 NEXZBHEF 3,738 0 3,738
020208 = 3,738 0 3,738
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3,007,220& * 14! 3,008 0 3,008
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69,980& * 14l 70 0 70
—AZHRASAHIE THSAK B2 X~
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—IJBEHASE AMRXE 595,000& = 14! 595 0 595
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45,1203 » 14 46 0 46
—OIAANR PR 13,6802 * 14 14 0 14
02 Al - THIEXZBHES 6,817 0 6,817
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—MOI228 5054 D18 MOISE4dstArg
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—HIZ2AHA) |28 AHMEAE =3 UK
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—OIEAII2E ARSEAE 25l A0
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ERPSIET - TELE L
571,208 * 141 572 572
—HI2HATISS BHSIEA BE5HO0IT
Q002! * 14 1 1
—HI2HAYIeS BE5 2T 2% KR(0/K)
1,602 * 141 2 2
~ABRREAME BOU0IE X
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